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- 5000g = Dkg
-4t =Qkg

- 900ke = Bt
14t =D@g
-0.12t = @kg
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@ 1400000 ®n2

1kg =1000g, 1t = 1000kg
® 0.12t = 120kg
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® 240a =2.4ha @170000 m?=17a
® 0.2km? = 20 ha @ 5.9ha = 59000 m?

® 35000a = 3.5km?
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D 0.04 km? @ 0.4ha ® 400a
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® 400a = 4 ha
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@ 3t =3000kg @)9000t = 9kg
® 2t = 2000000 g @ 0.6kg=600g

® 0.65t = 650kg

@ 9000t = 9000000 kg
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D 48.08+8 @ 2.85+3 @72.8 +14
@ 162+6 ® 72.8+8
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@ 48.08 + 8 = 6.01
@ 2.85+3 =095
® 72.8+14=52
@ 1.62+6=0.27
®728+8=09.1
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D 96+24-1.2 @ 96+24+1.2

® 9.6-1.2+24 @(9.6—1.2) +24
® (9.6+1.2)+24
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